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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 (ppb) 1D pull distribution
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asym_bcm_an_ds3 RMS (ppm)
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asym_bcm_dg_us (ppb) 1D pull distribution
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asym_bcm_dg_us RMS (ppm)
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diff_bpmE RMS (um)
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diff_bpm4aX RMS (um)
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1D pull distribution

-0.03176 + 0.1369

Mean

1.006 + 0.09683

Std Dev

Underflow

Overflow

5.091/5

X2 / ndf

11.95+2.37

Constant

-0.254 £ 0.136

Mean

0.8878 + 0.1382

Sigma

|

54.73 153

768

X2 / ndf

.669

+6

-6

p0

0III|III

diff_bpm4aY (nm)

-100

-200




diff_bpm4aY RMS (um)
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1D pull distribution
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diff_bpm12X RMS (um)
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